(e} There are 16 boys and 12 girls. How many pupils
are there altogether?

Answer :

1 Faiz arranges 35 boxes of
oranges. Ranjit arranges
another 28 boxes.
Calculate the number
of boxes of oranges
altogether.

Answer :

€% In a class, there are 25 pupils. 9 of them are
wearing spectacles. How many pupils are not
wearing spectacles?

Answer :

L2} Look at the table. The blue house score is not
written.

{# How many more the

yellow house score from ¢ .
the red house score? mus'e Score
{i* The difference in scores Yellow ql
@ of blue house and red Red 67
house is 10. Howmany | Blue ]

is the blue house score?

Answer (i)

Answer (ii)
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